Q é g Gﬁ @ Kerro desimaalit kymmenelld negatiivisella
potenssilla

Nimi: Piivimadrd: __ Pisteet: ____
8350,7 % 0.001 = 6061, 8 x 0.01 =
6442,8 x 0.1 = 5190 x 0.1 =
6484,9 x 0.001 = 7398,8 x 0.1 =
5890 x 0.001 = 2069, 5 % 0.01 =
2990, 3 x 0.001 = 8343,6 % 0.001 =
8263,9 x 0.0001 = 9107,3 x 0.001 =
9900, 9 x 0.01 = 2925,1x0.01 =
8525,2x0.01 = 2785,9 x0.0001 =
7911,1x0.01 = 9558,4 % 0.001 =
4719, 5 % 0.0001 = 1693,4 x 0.01 =
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Q é @ Kerro desimaalit kymmenelld negatiivisella
(S potenssilla

Nimi: Piivimadrd: __ Pisteet: ____
8350,7 % 0.001 = 8.3507 6061, 8 x 0.01 = 60.618
6442,8 x 0.1 = 644.28 5190 x 0.1 = 519
6484,9 x 0.001 = 6.4849 7398, 8 x 0.1 =739.88
5890 x 0.001 = 5.89 2069, 5 x 0.01 = 20.695
2990, 3 x 0.001 = 2.9903 8343,6 x 0.001 = 8.3436
8263,9 x 0.0001 = 0.82639 9107,3 x 0.001 =9.1073
9900, 9 x 0.01 = 99.009 2925,1 x0.01 =29.251
8525,2 % 0.01 = 85.252 2785,9 % 0.0001 = 0.27859
7911,1x0.01 =79.111 9558,4 x 0.001 =9.5584
4719,5 x 0.0001 = 0.47195 1693,4 x 0.01 = 16.934
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